ENL#HX

N— >

EEERBER REHHHX

%S
Sk YQY %ﬂﬁ“ﬁﬁ @ K;Z Hﬂ'léit!

3
#

%g%‘m BNTEHE ATSHE  HEEEHE
e V . s
St

ﬁll =

El1E 2]

JLfIE R ;u;{gqgw_.

{EithiE
& &

50%

40%

i X

49030 = 49032

295E ™\ A

(BEERRE)

—

30

A
(T Hm\

:lt‘lﬁlﬁi&
:@ cﬁﬂg'ﬁ“%ﬁﬁﬂﬁm Jd—ﬁﬁ]ﬁﬂg

‘ Lb;m %
1 14OEQ

) EE) 33?\ \ " 2A-Ggp-y / 15 A
v(\\S\ = 1405\/ Z\
I x !

]
w1 Wy

30491

T

=T =%
\

———————
Ch 5%‘5}\3

| \ X
‘ B “”w”\\\\44%::::£

140E,

Jiliig

145E3TE

TR

—

— Bty

{:\\\

v
\«/v&iﬁ}
»

%2

/ @m;:q ; 5E
\ \

i /110E\

\

=) '\'jns

ERERET /
N
\v —— S| —140E%




